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AHA23034 野村尚平 

問2.5　定義に戻って  を示せ。 

(解) 

  について 

　  をとる 

　このとき　  となる  がとれる 

　よって　  

　    

  について 

　  をとる 

　このとき　  となる  がとれる 

　以下  を示す 

　  をとる 

　ここで　  とすると  

　このとき　  を示す 

　  をとると　  

　よって 

　  

　    

(Xi)i = Xi

(i) (Xi)i ⊂ Xi

∀a ∈ (Xi)i

B(a; ε) ∈ Xi ε > 0

a ∈ Xi

∴ (Xi)i ⊂ Xi

(ii) (Xi)i ⊃ Xi

∀b ∈ Xi

B(b; ε′￼) ∈ X ε′￼> 0

B(b; ε′￼) ⊂ X ⟹ B(b; ε′￼) ⊂ Xi

∀b′￼∈ B(b; ε′￼)

ε′￼′￼:= ε′￼− d(b′￼, b) ε′￼′￼> 0

B(b′￼; ε′￼′￼) ⊂ B(b; ε′￼)

∀b′￼′￼∈ B(b′￼; ε′￼′￼) d(b′￼′￼, b′￼) < ε′￼′￼

d(b′￼′￼, b) ≤ d(b′￼′￼, b′￼) + d(b′￼, b) < ε′￼′￼+ d(b′￼, b) = ε′￼− d(b′￼, b) + d(b′￼, b) = ε′￼

∴ b′￼′￼∈ B(b; ε′￼)



　したがって　  

　  より　  

　よって　  

　したがって  

　よって   

　    

　  より　　        

　 

　 

B(b′￼; ε′￼′￼) ⊂ B(b; ε′￼)

B(b; ε′￼) ⊂ X B(b′￼; ε′￼′￼) ⊂ X

b′￼∈ Xi

B(b; ε′￼) ⊂ Xi

b ∈ (Xi)i

∴ (Xi)i ⊃ Xi

(i), (ii) (Xi)i = Xi ∎


